ESTIMATE THE COSTS OF TURNOVER FOR A SPECIFIC JOB

TURNOVER COSTS = SEPARATION COSTS + REPLACEMENT COSTS + TRAINING COSTS + LOST PRODUCTIVITY COSTS

A. SEPARATION COSTS. Costs of salary and benefits of both interviewer and departing employee for the time used for the exit interview.

Salaries & Benefits = $______ + $______ + $______  =  $______

Admin & Record Keeping = $______

TOTAL SEPARATION COSTS = $______

B. REPLACEMENT COSTS. 

Advertising for job opening = $______

Pre-employment screening, admin functions and record keeping = $______

Selection interviews = Salaries & Benefits of all interviewers $______

Pre-employment tests and/or work simulations = $______

Selection meetings (salaries & benefits of attendees) = $______

TOTAL REPLACEMENT COSTS = $______

C. TRAINING COSTS. What it takes to get the employee “up to speed.”

Booklets, manuals & reports = $______

Training & Education (costs of tng, salary & benefits while training) = $______

One-on-One Coaching (Salaries & Benefits of all involved) = $______

Productivity lost until new employee gets “up to speed.” = $______

TOTAL TRAINING COSTS = $______

D. LOST PRODUCTIVITY & LOST BUSINESS

Lost productivity = Average productivity lost due to mistakes and slow working pace of each terminated employee is $ _______________ .

Lost customers = Average annual amount of business of customers who stopped doing business with this company due to the problems caused by the average terminated employee in this category is $ ___________ 


LOST PRODUCTIVITY & LOST BUSINESS = $______

TOTAL TURNOVER COST OF A SINGLE EMPLOYEE

A______ + B______ + C______ + D______ = $____________

(Have we missed any costs? List them below!)

